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b akam zpeorrr  afir o e o e 270 Feof o apsa 8, At o o v R A e e @S €2

a) oAl (B) =m (C) afers (D)
Which direction are you facing now, if you turm 270 degrees clockwise from facing west at the beginning ?
- f"*}w;‘:fm-;’:f ~ ﬂg{ﬂu South (C) West (D) East
- TH E |
mhﬂw%ﬁaﬁﬁmﬁé??@ﬂﬂm?m 10 iz =T 3, o St and gear 2 3R 15 ey
(A) 207 b . it
(C) 159 ] ED: :g s

A person walks 15 meters
% east, then 8 left and walks 10 meters, then tums left aea;
Ry alks 8 m and
13 meters. How far is be from the slmiT‘E-EFII:uinl'T : ol
(A) 20 meters :

(B) 18 meters

(C) 15 meters
W & forg Tﬁm srafifat sl fafir
a
<]
]
&~
@)
L]
]
®
BW 5§ snafefat =B sy s T
s fTﬂ : ® wo i) 3o (D) 399
€ Iotlowing pie charts represent the disiribution .
; of candi i
candidates (out of those enrolled) who d the exam in dj":;::mwiz:t;:uﬁfmﬂnd for an exam and the

CANDIDATES ENROLLED = § =
550 CANDIDATES WHO PASSED THE EXAM =5700

@&O0%

18%

%

The difference : - 'of candida h eod from institutes S and P combined and
jes who pas .
between the total number of cand: and R combined is :

Ihﬂ !DIEI numbﬂ_ . & . T
of candidates enrolled from nstitutes
... (4) 400 (B) 440 ©3w (DY 399 e
GWZ.24 === =rrmmsmsccamsdasassssemmssswsssTT Page 2 of 24




vt o e P e AT S Ry
Fo ;¥ e € %I

FUT 2 T i e A O

Freed . 3 v e e G 6

A

T e & v e e B0

(A) oy wra e chvees: T (B) Sty ey et Pifim sw wrwdlt &
(C) iﬁmwﬁq&ﬁ%ﬁﬁw? (D ﬁﬁﬁmqﬁﬁﬁmmﬂﬂm

Read the statements and select the correet altemative

Statement | Tray plays table tennis.

Stxtemen; 2 S Table tepmis isa difficult gumt["ﬁ

Cﬂﬂt‘fu}i‘r’gn r Tm!lr pluﬂ a3 dlfﬁfu“ ﬁm:. ¥
From the

EI:h;:'l,r{; statements, we can c-l;l-ll-'.‘:ll]dl: th j
(A) The conelusion slated is 'I')Tﬂhﬂbl.}' false
(C)  The conclusion stateq is definitely false

Fegarding the conclusion.

&% (B) The conclusion stated is definitely true
£) (D) No conclusion can be reached

ﬁwhﬁaaﬂ#aﬁmmn@ﬁ—mﬁmh EE:]

(A} Fotirer (B) i ® () aw (D) =i
Which of the following shapes i different from the rest 7
(A) Triangle (B) Sphere (C) Circle (D} Square

U Rl 52 v 6 o 'SCRABBLE' %I '19318122125' & = & Feaw foear wn & o
: R

!n & certain coded language, if ‘SCRARBLE" is-;&dﬂd as
in thag lanpuage 7

19318122125°, how will "STUNNED' be coded
(A) 192021141545

(B) 192022141454 ;ﬁ,’: (C) 192021141454 (D) 192020141545

U e o ain g e 0 Frden 3y

w2 o E HH4R 1 Fnfer =7 39 wfeer &
(A) =& & gy e

(C) Ham (D) |f

Pointing at a woman, Nirmala said, “She i the d ter of the onl £ ister, ™

15 Nirmala related to the woman ? ! - FE R ot e .
(A) Sister L] {B) Cousin

(C) Paternal Aunt E_:li (D} Mother

ST STE TR 7 i

What is the next letter 7 ;_-:i

PaolaaTais - g;}

(A) R (B)y P €y T

O S e i i
= =
- ————
-



3 gy 8 34 g firs & o T SRR Wi

" e @) freed (©) et 2 e
Curtains are related to fabric in the SaMe Way ag blings gre related 10 :
(A) Slats (B) Lifters (C) Cords (D) Covers
o, S 8, 9 g
(A) m‘ﬁvﬂ'ﬂ'ﬂﬂ (B) T (C) aﬂi‘qﬁﬁ (D) =it
Soap is related to Clean in the s2me Way as Perfume i related to -
(A) Neat (B) Smell '{':j Smart (D) Freshness

11, a2 s afafim £ e de w0 w3 ¥ ol 180 Fiegfr aré' it sy &, At v 3 v foram i o o

w27 O

(A) =g (B) I lic) efiorafam (D) Fe-afeny

If you start facing South-West and tum 180 degrees 4 your right, what direction are you facing now 7
(A) South-East (B) North-East Gy South-west (D) North-West

12, 140 it % wdum § ow e 5 60 R dife o demn v =@ §, 70 Framdi svEn iy SemEr we
F 8, o 75 Feremell smvaze I GOt w ¥ | vwin sifafeE 30 9T ER sf srIeEn 2H we ge
18 1 ifedl it s SrezEn T 3T SE v, 42 €1 i T i e i SR e vhe £, @ g F
TR % Wl THE § | 3 ST I S0 3 o F o i o e e e g ¥

In a survey of 140 students, 60 students like to play video games, 70 students like to play indoor games,
and 75 students like to play outdoor games. AdditiimllyT 30 students like to play both indeor and outdoor
games, I8 like both video games and outdoor games, 42 play both video games and indoor pames, and
8 like all types of games. Use the Venn diagram to flnd the students who play only outdoor games.

(A) 57 (B) 32 {C) 35 (D) 64
13. @ o oW ded (A, B) 7 st o B + A %106 e i |

Findthr:misﬁingnumh-cral[h, B) in the series and ﬁEdlht:valu: of B+ A,

25, 36,49, A, 81, B, 121. 6

(A) 146 (B) 125 ) 152 (D) 164
14. WMp>gq=p’+*sMp<q=p’ - M(1>2<1=

ll'p}q=p2+q3nndp*=q=p3—q2,then{1?E){3=

(A) 720 (B) B40 (C) 600 (D) 480
15, Frefafan st 6t st st i of e o 7 aw s w v

RK59#B2%*E?ASLSI4SV7IC6N@HL13D

&éﬁmﬁmﬁ_ﬁqﬁ%nﬁm%aﬁﬁ%ﬁﬂmﬂﬁﬁﬁﬁ?

Examine the following sequence closely and respong to the question that follows.

RK59#B2%*E?ASLSI4SVTIC6N@H13D

How many letters are there, each of which is 'mi_ﬁ}'l-‘diﬂtl:l}’ preceded and immediately followed by 2
symbol 7 w3
(A) 2 (8) 3 ‘©) o (D) 1

-----------------------
----------------------------------------------------------------------



16. ﬁqmmﬁﬁa&ﬁ%ﬁﬁﬁﬂmi?‘m Elwﬂﬁmﬁﬁﬁﬁ?

Given the pattern - fod comhinations, hoy,
PRI The pead LI Would yoy, express the combination represented

h}rl?"? __|
AZ3B, CY6D, EXOF, 7 L]
(A) KXISL (B) NEEIDI};. € Gwiay (D) IV15)

17. 1 Hemat Ve =t g, A ‘?Ti'ﬁmﬁ'ﬁﬁﬁmmﬂﬁaﬁﬁm

Given the pattern in ided -~ numhb
the provided- numberg,
by *7" 9 P = how woylg you express the number represented

$1,9,27,25, 125, 7,343

(A) 49 ®) 37 ©n (D) 34

18, Frefafar d 3 fer e e S A o
Which of the following words has its lettérs in an alphabetical order 2

(A) Collops (B) Enwlupﬁzg (C) Bloops (D} Adrops
19. ﬁﬁmmmwwmﬁmﬁﬁawmmmu
. 4> Al (it
: d
11]3 — fogdm
17 \3
*
_ "
Foed ar e et fovert = firfi v b o
(A) 31 B) 22 :J (C) 20 () 16

Examine the provided diagram and respond to the following question

LT

g | = Employed people
A J
(3 1
{5 = Backward people
17 \2 7
A — Educated people

How many individuals considered backward are mor educated 7
(A) 31 (B) 22 (C) 20 (D) 16

20, 0.05,0.5,0.25, 1.25 51 Wewd HTEGH (HCF) 3 Fifa |
Find the HCF of 0.05, 0.5, 0.25, 1.25.
(A} 1.25 (B) 0.25 (C) 0.05 (D) 0.5

o e



22.

23,

25,

26.

27,

C sop fecafer 1 1T 3 a8 |
wad o g g fife w4, 6,7, Eaﬁu‘r%{_ T T (he remainder 3 in each case.
Find the smallest number which when divided Bl 4, 6,7, 8 and q Jeaves (D) 504
(A} 501 (B) 510 = (0 507

. 5 T ?
uﬁanhﬁwmiﬁuanhﬁmﬁmqﬁ}*mg‘ﬁmﬁ ﬂ%', = i
If the cost price of 30 tables is equal to the ﬁ‘:ﬁiﬂg price of 40 tables, thet what 15 the loss percentage
(A) 25%° (B) 37.5% ?_?; (©) 26% (DY 30%

&) i a
et AT 3 w10 8 4 o TR ot T ) arfus i 10 6 5 WAL N WO R | 37 95 QAR
20T ORTA S @ | 3w o T e w20
(A) TRl aEy (B) ETﬁ];IﬁﬁTﬂI:E%

C) wif 19, 19,
(C) Fﬁ!ﬁlﬁlxﬁ o ®@ v e 155 %

A ;j_mi; se]Fr:r buys some oranges at the rate .}fﬂl for ¥ 10 and an equal number more at 5 for ¥ 10, Then he
sells the whole lot at the rate of 9 for T20. WE} is his loss or gain percentage ?

(A} No loss or no gain &% (B) Loss percent 12%
(C} Loss 19, =
percent IEI Yo [ (D) Gain percent 1%%

ﬁm%ﬂﬁaﬁﬂﬂmﬁrm#ﬂﬂl%“@m
bbbl o &1 17 f o & o B w3 Ry

Two types of rice rates are €
11 : . .
of rate ¥ 17/kg. kg and T 21/kg. Find the ratio of the two types of rice to obtain a mixture

(A} 2:1 (B) 2:3 (€) 3:1
ll-iﬁﬁﬁﬁuﬂ%%fﬁﬂ%mﬂ@ﬁ%u rpie
(A) 20 (B) 1034 < (©) 123§
In how much time will an amount be doubled [ali‘th-e rate of 12,59 = B e
(A¥ 20 years B) years % (€) p2oes

N years (D) '8 years

R Y v Fflr o 150 el B qff et % o
il ol e 200 %ot 21 Frges o | o
%? w,ﬁ%mﬁmw&m%%mﬁgﬁ&qaﬁigﬂﬁmﬂﬁ:g?ﬁ;ﬁ

Indian Railwavs empl ' .
P ﬁ_'ﬁ"f-‘d 200 workers (o Cﬂn‘lplt‘tﬂ a certain work i
. n 150 da
work had been done in 50 days, then to complete the whole work i M wha::F:- If only one-fourth of the
workers to be employed ? » What is the number of additignal

(A) 300
) (B) 200 (C) 100 (D) 600

;gﬁr;ﬁrﬁmﬁ mﬁq"rwamﬁ%mgm_am memﬁuﬁﬁﬁﬁm
T S 3 ferATe ek e gl e A A R R e g

(A) s0fem (B) 60fA (€) sofm (D) 70

12 men and 18 women can do a work in 10 days. 9 men and 18 women can do the same work in 12 davs
If 2 men and 3 women together do the same work, in how many days will they complete the wark 7 2
(A) 50 days (B) 60 days (C) 80days (D) 70 days

T I e ——
- -
S -



28.

20,

30.

1.

32,

33.

M,

35,

-----

2 Yt ;59 el ﬁféﬁm%ﬁmﬁﬂmﬁmﬁﬁﬁﬁﬂﬁmﬁﬁﬁﬁ
TR, ool i e el T 20 R R 16 3 o 8 e i e v Yo
Ty 9T Hifa |
(A) 1247 @) 123701 © 1704 (D) 1207,
Two trains travel in the same direction at 39 km/hr apg 32 km/hr and the faster train passes a man in the
slower train in 16 seconds. Find the length of the fagge train,
(A) 124m (B) 123m ) 170m (D)} 120m
67 sftex et 2 mfﬁ'ﬁﬁ33ﬂﬁﬁﬁ“#mmﬁlhmﬁsma&mmw§ﬁﬂﬁﬁﬁ“
A H T e 30 3 e |
(A) 5.5%eE (B) 4.5%%% {ﬁ 6.7 iz (D) 8.8 3=

of length 33 [,

A 67 meters long train crosses a tunnel ters in 10 seconds, Find the time for the train to
€ross 4 man standing on a platform of length 65 metery,

(A) 3.5 seconds (B) 4.5 seconds (t&) 6.7 seconds (D) 8.8 seconds

ffiget s fig i o2 | 3 smua d 8135 3% ST e et o4« 1 % o A w AR

FAfeET 3t e it ot e e AT A7 10,0008, 1 s o s 7 e e |

Nikhil iln:l:l Reetu eam in the ratio 2 - 1. They SPETJ{q: the ratio 5+ 3 and save in the ratio 4 ¢ 1. Find the

monthly income of each, if the total monthly savings,af both Nikhil and Reetu together is T 10,000,

(A) T2000,%1,000 (B) T8.000,T4,000 ((G) *28,000,% 14,000 (D) T 10,000,F 5,000

ﬁwﬁmﬂqﬁmﬁmﬁwmwzm&mm%ﬁsaﬁﬁﬁmﬁﬁﬁrm%tﬁmmﬁ

;ﬁ??m meaﬁ%*ﬂmtaaa?ﬁﬁam‘%zuaﬁuﬁmmmhmﬁﬁ%mm
TR

In an examination, a student who gets 20% of the maximum marks fails by 5 marks. Another student who

scores 30% of the maximum marks, gets 20 m bire thui tha R : :
for passing is : Mk'al“} i the passing marks. The percentage required

(A) 22% (B) 20% o) 2% (D) 27%

Ny I ; -
w ke aofi e od # fm so, ?ﬁIETH'HTEmﬂ'{JLEHﬁt 1,600 & | 32 % ang mme W TFf =
(e =9 & waifera =z #ifam | ﬂ']
The simple interest on a certain sum of money for Fm years at 5% is T | 600. Find the compound interest
at the same rate after 3 years, interest compounded Eﬂ'nualluy.

(A) 2,555 (B) T235% =HC) T2.520

12-02-2022 & 11-02-2023 7% 15% SFy a4 1T H ¥ 73,000 T W g §

The simple interest on T 73,000 at the rate of 15% per annum from 12-02.2022 to 1 1-02-2023 is :
(A) T13.450 (B) %14,750 (C) T12,050 (D) ¥ 10,950

%475 31T 3 1 5% T2 U o 0 A e me 2 7
What 15 the discount on a pair of shoes marked at 7 415 and discounted at 159, 7
(A) %7125 (B) %7525 <) T (D) =72

O AR U g ¥ S T 0% B e 24T b A 92 T w80, 1 Ry a3 | 4
PITEch fest . fte e 5 A € 34,020 71 sprers e 2, i et P 2 2

A shopkeeper allows a discount of 10% on the magkid price of an item bug charges a sales tax of §% on
the discounted price, If the customer pays  34.0 9 the price including the sales tax, then what is the
marked price 7 (&

(A) %39,000 (B) ¥ 38,000 C) ¥ 34,000 (D) 35,000

______________________________ -
-------------------------------------

(D) T2.522

O e Page 7 of 24



36.

aT.

38,

39,

40,

41.

42,

-

a&xaﬁ%im&mﬂﬁ“ﬂmﬁ-ﬁ“‘!ﬁ“ x% i aftea @

- 1 . :
If the average of x and ?1{ (x=0) Ji m, then the average of x* and = B
(B) I+ € 1-3m? (D) 1-2m |

(A) 2m*-1
aif o TR T T o S 1328, e s sif deet v st I i |

If the average of 9 consccutive CVen numbers is 132, find the difference between the first and the lag
numbers.

(A) 16 (B} 18 (C) 19 (D) 15
m#nﬁﬁmﬁﬁzmﬂ?ﬁ%mmﬁm,qaam%ﬁ.mnﬁﬁﬁ:mamwaﬂaw%|‘-=Tﬁ?r
1 wha foram writfirs gy s an 7 “

A8 A panil of 2805 ke ¥ fhe l?mx of rice per kg, a P'ﬂ‘l" is unable 1o purchase 6 kg more rice for
% 1,200, What was the original price ol rice per kg 7 =

(A) TS50 (B) 60 (C) :ju] (D) 40
nﬁquﬁﬁﬂﬁﬂmmtaﬁrmlﬁﬁﬁwﬁmwmﬁﬁﬁﬁ%ﬂ
mﬁ@mﬂmﬁ,ﬁmﬁm-mcﬁmmﬁmmﬁm?

(A) R (Rr)  (B) F g i) () woqw @me) (D) st

If you have a regular icosahedron and you slice i a i ix of i
: ong a plane that intersect i
shape of the resulting cross-section 7 _ of.. feects six of its faces, what is the

i,

{A) Pentagon (B) Trapezoid (C) Hexagon (D) Rectangle
Frefeafim sjwen & wem e 1 veam St | ]
ldentify the incorrect number in the following series, :]
4,7,13,21, 34 |
(A) 13 (B) 34 © 7 (D) 21
fe e o rafeera et (e 7 s e ifor "
Find out the number of the cubes that are arranged in the ﬁg!im: Elven :
-;j:l
a4 il

(A) 18 (B) 17 (C) 24] (D) 16
qﬁ?ﬁ“m“ﬂwﬁﬁhﬁam%j@ﬂmﬁﬂﬁﬁwh

If the sum of three consecutive even numbers is 78, what is the second largest number 7
(A) 26 (B) 28 (C) 24 (D) 30

e = S =
T e e e e e S o



for 1 0

43
Choose the odd one out,
(A) KL (B) QR Ll © az D) FG
44, m@ﬁrﬂmgﬁﬁ?miﬁrﬁm Eﬁﬂ‘iﬂTﬂ-ﬁX‘flﬂtﬁTW%1
Find the miror image of the figure, if the mirLo! is placed at XY,
tha
X ()
L]
:ﬂ
i
4§
(A) L]
q ®
]
e
.'I-'J
(C) ]
+3 (D)
&
45, SEfT & Fvgsit o e e i
Find the number of triangles in the figure. | ]
L
i
)
L]
|'*i"
(A) 9 By % (i
¢ (C) 12 (D) 16
46. st 3 —.
Hfim 2 :ﬁxmmy@“ﬁaﬁ'ﬁ SEEY ut 46t ot o T 3 & 1 e e e § O
(A) =& (B) =& © (D)
Pointing towards Aneesh, a woman said, “His mother is the only daughter of my mother.” How is the
woman related to Aneesh 7
(A) Sister (B) Daughter (C) Mother (D) Grandmother
e s~ S



B :
SAM (1, 2, 3, 4) FeT-FE T I E — T aﬁl‘;l vy gt | Formr AR =t f T a® e Ay

" mﬁs#mﬁ%qﬁmwﬁs%mﬁﬁmﬁmﬁ q,ﬁgmﬁﬁﬁ%ﬁ’fﬁ%%mwﬁﬁ%mﬁﬁ%m
A TR | ¥
‘-H'E-':fm'ﬂ?r;ﬂ?r l{“
(A) 1T, 2%, 3T 4 - He r[ ') |.-&THT,I--ﬂi.3—EELT,4-éﬁ
© 1-8,2 ¥, 3w 4- A ) 1 -3, 2 - 30,3 w4

: 3 L
Four people (1, 2, 3, 4) each pick a different fryjy le, banana, cherry and date. The person wha pi k
the apple is next 1o the [‘l-frl-iﬂﬂl"'*'l":’ picked the b.nna:EI;ml not next to the person who pﬁ;knd the dnati: E‘[;d
person who picked the cherry is next 1o the perggn who picked the date. L
The correct combination is ;
(A} 1 -Cherry, 2 - Banana, 3 —Date, 4 - Apple  (B) |- Banana, 2 - Apple, 3 _Dare_ 4 _ Cherry
(C) 1= Apple, 2 - Banana, 3 — Date, 4 — Chermry (D) 1-Banana, 2~ Cherry, 3 — Date. 4 _ Apple

48. e ahifia o vt st () 3 R T 7 st = ST

Find out which of the figures can be formed from the pieces given in the first figure (X)
i ;
(X)

o [X

49, wmmﬁﬁ‘{q|

Find the dissimilar numbers.
(A) 16,25 (B) 49, 81 a 8.27 (D) 4,9
50, ﬁnﬁlﬁaan#aﬂqmﬂﬁa@tnﬁmaﬁ,mmﬁm%-ﬁmm%mmﬁmﬁm%?

Which of the following di indi ”
wing diagram/set indicates the relattéjm between women, mothers and parents 7

l

(13)

a1
(€) (D)
SL. v o ifag
EE’ITEI:E'EF::IEI%:?
(A) fim (B) @tz ) W (D) =

Complete the analogy,
Glove : Hand ; : Soek : 7

--------------
------
__________________________________________________________________________



s2. g QA
siafrer-an ey ae ;  TEET ;9
(A) T (B) Tar e (C) wg=h (D) W
Complete the analogy,
Astronaut : Spacecraft : : Diver: 7
\A) Car (B) Airplane (C) Submarine (D) Bicycle
83, Teferst 3% v @ 45 Feoft 3 on w0 03 g e o) v whirede R s & | afomed TR
(FTH-HTTH) 1 AFR TR 7
(A) Fdam (B) sy (c) (D)
A cylinder is intersected by a plane inclined at an angle of 45 degrees to its axis. What is the shape of the
resulting cross-section 7 ‘(
(A) Ellipse {B) Hyperbola (C) Pdrabola (D) Circle
8. WRCAT®Fr=DBUL & DOGHF FEFTE? f
If the code for CAT is DBU, what is the code for DOG 2 O
(A) EPF {B) EPH (C) D (D) EOF
S5. T 3R, 3H 0, 1,214 51 3. A,B,C,D, Em%ﬁmm%u{mmhmhu]mmm
$ifm)
According to the code, digits 0, 1, 2, 3, 4 are represented by A, B, C, D, E respectively. Find the value of
[(B+E)—(D+A)].
{(A) 2 (B} 3 (€)1 (D) -2
R T — [
What will be the next number in the series 7 (:]
3,6, 18, 72, 360, .. O
(A) 2160 (B) 1820 (C) 2180 (D) 1260
$7. B W ¥ W SREw A, B, C, D, B 3t F . 3 e Wi D
: U et # oft g o F,Ed
ﬁﬂﬁﬂﬁﬂﬁilﬂ%ﬁﬁimaﬁﬁmﬂt 3@# Bl B, E¥ ey TR HEfim o b
(A) =t (B) =it {D} firm
In a family of six members, A, B, C, D, Eand F, l:hr:n: are two marmied couples, [
Rtk oF T ples, D s -;I-'[ETI.'H.‘hl:r and the
}?uw: :E ml];t::! lll-;c Epi;andmuther of E and 3 h::usemt"u Cis a lawyer and married to A, B is noy g male.
(A} Mother (B) Aunt (C) Sister (D) Father
58, ﬁﬁmﬁaﬁﬁmm
ettt e o et gy U
A i e v 4
(A) e TR (B) TEwm (C) !@wm (D) dhm
S~
. Feafefa it & Fm s AR ®
(A) T8y (B) ¥ (C) (D) T
0. 7 3 s o v et 8, e 8 o
(A) 3wy (B) H&ETITY (C) Fequm (D) WY e

E'-:Lge 11024



6l.

65.

66.

67.

69,

0.

7l.

T2,

73.

74,

5.

sy S R A
o= SR (B) AIF-IFTE  (c) gehy-I (D) e A

(A) Tl

o (B) faam (©) m (D) 9
s e PR A § IR Y

(A) ST A T (B) 379 ST&T1 A1 = W=

(€ e i et T B (D} ST A9 FE 8

s v 0 T e BRI S 1 SICRAT st sy ey e 2 7

(A) T (B) ERW (C) = (D) e

fet o s For e s AT 5 er e a1
() e agE () B E (C) EERET=A (D) i
ﬁmﬁﬁﬁ#aﬁ@'mmaﬂﬁﬁrﬁ%ﬂhmt?

(A) =G+ TF (B) FWATE N (C) = +3E (D) 77 + 9%
2019 51 EEe SRt e e T ) feay o

(A) TefEwamEd  (B) T EE A Eg (C) Tmexs firs (D) =i fif
T B A AT 7

() o (B) =gsife (C) sr=pivrE (D) e

T AT AR w AR

(A) Tod TN T94 T , B

(©) i Em L] o m:fﬂmﬁﬁm
ﬁmﬁf@aﬁﬂﬁm‘m'mmwﬁm@gﬁﬁﬁ?

(A) #W (B) #frm ﬂ' (C) T (D) &fie

T A e TR R 0 )

(A) 7 (B) Z E! () @ (D) ®
ﬁimm%m%‘mﬁngmm%; ﬁI

(A) BTVEEE  (B) U Eee (C) A=A (D) Y g
Fobett o 3 €t s vt e et 3 v o e TS |

(A) g (B) = (C) srgelied (D) gt

ﬁﬁﬁ‘iﬁﬂﬁﬁﬂﬂ?ﬁmﬁqﬁmﬁwﬁnﬁam“ﬁ?
915 — UHTRT, T, 35T, fowrar ‘;1

(A) AT, AT, AT, : [;] (B) 37, T, 37T, ATF,
(C) ST, AT, w1, =1 E-E'f (D) 1, 3T, 3ATH, AH
& =T 1 = i ()

(A) Wfﬁﬂglrﬁaﬂm‘rﬁagamﬁgﬁ! (B) urea 3 e & o, elt = g S e s |
(C)  ¥8 €I e ) 31 20 76 2 @ (D) IR @TA wEEEma

- S

------------------
TEE RS o i e e o e e -



LSRR ﬁ“ﬁmﬁaﬁﬁﬁaﬁq:

76. (), S E:;%&:'ﬁ (C) e, Em (D) ETER, e
7. ;Tﬁ“gfm (B) e (C) TPER D) 77
Preferfie & ST ¥ T8 B9 o =9 i
e A) mammﬁﬁﬂ; (B) i # arhi nfrat # |
(C) A o E (D) W & 37t siifer |
79, FromEmTfEe:
(A) () B (1) © (.) (D) (-)
g0, Frm A § o v i fa o H a0
(A)  ST=0T, 9 ST AT | < (B) e & =g snft smam
(C) T 5= fr & [ (D) % T wgg sremr 3
1. IR ¥ AT R E_E |
(A) T = (B) w=taw (C) wem Ty (D) TH9H
82, AR IR w0 e
(A) peh ®) Fom g (C) FTMEN (D) v s
83 ﬁmf%lﬁa?rﬁﬁﬂﬁq-mmﬁ@iﬁ?
(A) &= (B) fify {C) &m (D) =z
84, mmﬁﬁﬂﬂﬁﬁaﬁ%htwmﬁaﬁmmh
(A) TEERTER (B) "W (C) wfdwg o (D) T T
85, -aﬁm-mﬁa*mﬁmﬂmﬁm%m
(A) = — sy A (B) 7 - Frex
() ﬁma’rﬁ;-w@ [.n] (D) #iE - ===
B6. M T AT T .-ﬁﬁﬂsm%ﬁm;
(A) Tt o v e sy D (B) =i wiies qog sy
(C) et & % e od (D) 2 % T e 3 fom wree
B7. ol Wt & g s w3 v vyt
(A) T (B) 9z (C) ()
B8, Frerferfian i & w8 v 8 ot 228 0 R B
(A) mmE (B) s (C) ¥7amE (D) T
B9, wumE s and
(A) fame ®) e (C) wfim (D) forga
(9.5, 907 94 Werter war) E:]!
ﬁmﬁmmmﬁhwﬁsﬁgﬁﬁﬁmmﬁ@mmmﬁmtmmﬁm
Wﬁlﬁﬂm%aﬁﬁ.aﬁmﬁa,m.ﬁﬁ?ﬁﬁmﬁ%ﬁa@ﬁmmﬁmwﬁﬂ'w
vt 1 e % o vt e @ B ﬁ;mﬁ@aqﬁm%m&@qmgﬁmﬁ@:
ﬂgﬂiwaﬂwaﬁﬂwﬂﬁmh@ %ﬁmﬁﬂmmmmﬁmﬁw
BWBA R L e
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76, ¥ U e B et et 1 A

Ay =9, (B) W, =E (C) =, = (D) weme, s
I '

; .m%mmmﬁﬁﬂ_ ¥
” {:Trﬁlﬁt (B) =T © TR (D) iz

79, Feferfs i @ ari & vpa w9 % 90 Fifa
(C) WFEH &% wie #|

70, T fm i
(A) () (B) (1) <y () (D) (-)
0. ﬁnmﬁmﬁn'mmmﬁﬁmﬁ%ﬂwh

(A) ST, WA | <] (B) 37501 8 7w anft 3=
(C) T s ke < oy | (] (D) % Taw wga w1
2 :

(B) W o st snfiaf 3
(D) WA aF i §

81, URETRC T S

(A) TeepeE (B) g=vam () (C) wem fiyr (D) TowH
. S e, L
(A) et (B) FR © FMWMEN (D) sy s
83, Frvafifias & - v i 2 2
(A) &m By fif (C) =y (D) T
84. ﬂmﬁﬁmﬁﬂﬁﬁa&&hnmwﬁﬁwmmﬁ?

(A) THFRETE (B e ada

(C) femy axtur (D) ey Fn
85. ‘m-m*mﬁqmmﬁm%{q:

(A) Wﬁ—m’ﬂ | (B) qﬁ_ﬁm

(©) Fearde % - smfy Ll (D) a7
86. 'mﬁmﬁﬁ@m*—ﬁ%maﬁﬁm;

(A)  HHES 37 o sy 0 (B) Tl drewt qwa

(©) 19w e o (D) ¥z 3 e s 3 o e
87. ‘ﬁf&ﬂlﬁmﬂmmnﬁ?%ﬁ*—mqﬁm@éﬁ:

{A) TFEMTS (B) BRI (C) 5 D
88, ﬁnﬁ—ifﬁaﬁﬂaﬁq-ﬁmﬁﬁmﬁ?ﬂ%? iy =

(A) T (B) g (C) 3w (D) T
B9.  WTH 1 e anf 2

(A) Fme (B) fa=iz U (C) wfem (D) faem

@5, 9087 94 TTErTYT Ta)

Wﬁﬁmm%@wﬁmﬁﬁﬁﬁmﬁﬁm%mﬁq@mﬁ o F e e e ¥ st i §

3 iﬁmﬁhmﬁﬂtﬁﬁaﬁmﬂmﬁmﬁmmﬁﬂw

'I-"-:u.u* 13 nf :.l'.-i-



i
Wﬁmqmmlmﬁmﬁ#ﬁmqﬁuﬁiﬁr%}mmmtﬁﬁmm@mm

8 o T T I e o et o e o o i 1 i 1 | e s o
JEhigh 3 e SATRATIF T 8 3 e yon a7y et o v 3 e B
ﬁmqﬂﬁﬁﬂqﬁmmm e
o, alr?ﬁﬂﬂﬂ:immﬁméamﬂﬁaﬁmh
EE} o i syreAte TRt A A g
) e R AT
i ﬂ_ﬁmqﬂmﬁmi‘mﬂﬁmﬂtvﬂmﬁﬁﬁ
(A) A5 T T, e & | (B) g reraraf i el o e
©) ﬁmﬁﬁﬁﬁmqﬁﬁmml (D) ﬂ;ﬂﬁ?ﬂﬁﬂmqﬁl
92, mmwmﬁmﬁﬁmmﬁlﬁ#nﬁsmm 2 e
(&) =8 ot Rredeen vt @ wnfa @ (B) Fed sTeafaaTE gE S R |
(€) e e e ST e & ) m@mmﬁmmmmtn
93, it e i wEilE el § &)
(A) e = i e (B) e SiEe = e |
(C) witaa = s st foamm (D) i i wafdto fmm
94, IS T H VEITET T H S I e § 7
(A) SeTo-aTa &1 9of Fafie W (B) =rE T i faam Fk
(C) e Sftam-mt s Frafor e (D) ﬁﬁmﬁq‘&@ﬂﬁﬁﬁﬁﬂﬁ%
95. UF it T UF Ui T 25% S 9 | 9 aw T 35y 5 ST T 732 F0 ° e, 9Ty 360
1 ST I | ST 1 360 e 1 41 7 o
A person sold a horse at a gain of 25%. Had he bought it fu:r-q 5% less and sold it for T 732 less, he would
have made a profit of 36%. The cost price of the horse was |""]
(A) F1,500 (B) % 1,800 (C) T 1800 (D) % 2,000
96. z; EXAMINATION % VCZNRMZGRLM %mﬁw%m%ﬁwmwmﬁﬁmmw
E LU0 i
IFEXAMINATION is coded as VCZNRMZGRLM, then how will WRITTEN be coded 7
(A) DIFGGMN (B) DIUGGMV (C) IDGRGMV (D) DIRGGVM
97, ﬂﬁiﬁﬁrﬁ,mqmﬁmﬁam:n%ﬁ;ﬁﬁmﬂ%lwf@m&mﬁ?
In a class, Sambu is ranked 10" from the top and 36t I‘mtg\-r.hc bottom. How many students are there in
the class 7
(A) 43 (B) 44 () 4% (D} 47
9%. K LAiwshzathm, | faert N, K it &, wmis O, A AT 1 OF KT EEa R 7
(&) B) =t (C) W] (D) W

-------------

K iI:.'. lf.:'s- wife and M is L's sister. N is the daughter of K, “'HEEIJE 0 is M's mother. What is the relation of O
to K 7 {

=
e e e



99,

100,

101,

102,

103,

104,

105

-

106,

107,

L S U S e e
EE e —
e -

3

st H 37Tl HE g A 6, 24, 120, 720, ]

Find the next number in the series 6, 24, 120, 720, -

(A} 5400 (B) 5040 :H Cy 5440 (D) 5004
at o sfren & & form e = s A »)

Find the odd one out from the given series : |::|

485, 482, 478, 474, 472, 466, 462 4

(A) 474 (B) 472 -5!}{{: ) 478 e

w7 50 etz ofy 4 it ofa 3 250 Greinfer

A bus Ir:'.!'l.-'-r.:|5 i d‘iSIEII'.ICE: of 250 kiiﬂmﬂtﬂrﬁ at a f 5“ 1
EP{:Ed ] h - i
I : Lj e T k]lumtﬂrﬁ per .I.'I.{II'LI_]',' Hovoe much tim wi |.I j. ta.k.l:

(A) 4 hours (B) 6 hours ](c} 5 hours {Dy 7h
_ . ours
Frmfeafian svm o s wem s 2 - :
What is the missing number in the fiollowi
Ing sequence 7
3, 18, 90, 360, 1080, 2] &0, L0 L _“j':

(A) 360 (B) 0 5
) O 2160 (D) 1080

@mﬁmmﬁaﬁﬁqn 39,75, 119, |
Find the next number in the serieg 11,39, 75 119

a
(A) 181 (B} 191 TﬁEE} 161 () 171

If INSECT is eoded as JOTFDU, H
» HOUSEFLY as IPYTFGMZ, then BU
: TTERFLY wi :
(A) CVUUFSGMZ (B) CVUUSGMZE (C) BVUUGMSG (1)) E:lg?}rﬁgﬂ o
VF

i 95474 F1 KGFIF femr =, @ 82143 &% A Hm 7
If 95474 is written as KGFIF, then how will EEI#}J wr'im;n ?

(A) JDCEF (B) JDCFE ey score (D) JCDEF
A, B 3R C %7 sftem 79 60 Frelimg & | af A s
A sl ot Aﬁﬂﬂﬂﬂﬂmmﬁﬁﬁnm#ﬂﬂaﬂ!ﬂwm

(A) 2] Freim (B) 20 fFemmy S0 17 Frdimm (D) 18 Feimmy

The average weight of A, B and C is 60 k 3
; ’ g If tlu:gvm i i
Cis 70 kg, then what is the weight of B 9 ge weight of A and B is 30 kg and that of B and

(A) 21kg (B) 20kg € 17kg (D) 18 kg

40 BTHT 5 T e 6, 15 @ T e § air 1s His .
F1% off w7t et At ot o v k- O 2 e 8, e s o AR e e 8| v

In a class of 40 students, 15 students play ericket and 15 students play tenmis, and 5 students play both the
games. Then the number of students who play neither of the two games is : '

(A) 25 (B) 35 (€) 15 D) 10

e e
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7 Fs v 3 Tl aal (O T ) i ik @, S i A T (e s an
o Mﬁ:mmmﬂﬂMHﬂmil I

Feraft wam
11,486

Ll
qmmﬁ#ﬁﬁmﬂaﬁﬁ#mﬂﬁﬂafﬂaﬁg%mmmmﬁqmﬁ%ma-'tﬁrﬁq‘rﬂw
R S 0 G, ST e 3 (T oty v v o e A sr AR
(A) TS (B) TRUFT  2S (©) zssorws (D) T 5500 g

The given pie chart illustrates the various ]‘n:r:s of funding (in ¥ crores) that the Public Works
I

Department (PWD) plans to collect for its Pha Projects.
ol
&

External Assistance
11,486 [

-ﬂ

Annuity
6000

Market Borrowing
29,952

¥
&)

To support the project with ® 4910 crores through toll collection by an outsourced agency, allowing for a
maximum 20% commission, what is the total amount that the outsourced agency should be permitted to

collect 7
(A) %4845 crores (B) %5254 crores (C) %5892 crores (D) %5500 crores
109, Y, XFEAR Mz hamidd 1 afkp, z b=Rmid ap v & g Ra i
(A) I (B) et (C) Fafem (D) =fimagd
Y 15 in the East of X which is in the North of Z. I{ P is in the South of Z, then in which direction af ¥ is P ?
{A) MNorth-East (B) South-West (C) MNorth-West (D) South-East

) S
ST EEE S e =

GWZ-24. Page 16 of 24
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Rl i— - p s

110, e st v s v e

Find the incorrect number in the following series.
1,12, 144, 1782, 20736

(A) Mdﬁ (B) 12 (Cy 20736 D) 1782
111, T T2H 5 UF W54 1 9f=g 3 g0 e, 08 Bara &
£7 & Tt 6 368 971 321 @ 1 el e v
() e ® = (©) fom
s i 1 at . D
Jﬂmﬂucmg a boy, a girl said, “He is the son of the daughter of the father ﬂf‘[ ) g ) | ‘
elated to the boy 7 my uncle.” How is the girl
(A} Sister (B} Mother ) Father
112 af wfim = 2fiafim & e fear s, gy S (D) Brother
i ﬁm (B) <iErsfim Q) Ifim ? :
If West is replaced by South-West, then North wil] 12 S (D) Fargg
(A} South (B) South-West 7 L
113, “% ¥amete oo fommst fomudt 2 E’ Sl (D) Notth-East
(A) =Tk za %
(C) =fiien g {D} S
?:;ﬂ wh:ﬂlﬁ “The Scarlet Letter” 2 } B
ark Twai
(C) WashingiﬂLTIwing {Bi Herman Melville
W4, TR e e Nathaniel Hawthome
(A) ﬁqﬁfh ISR R hewfis 03 35 9 e siarer st A 3 e
Which soeial i W S ) {fﬁE{ 1 mﬂﬁl‘ﬂ'ﬁi?
o 1al media platform has 5 feature calleq nm aks™ 1 encourape fm:guiﬁ:gT .
: P munication berw
(A) Ena?fhﬂ.t (B)  Instagram ( i Toriie o
115, Wmﬁmﬁhﬁiﬁ? (D) Facebook
(A) o (B) oy i "
3111: capital of the Pallayva d}'nasr:.rhwas located at = (D) wwe
A)  Thanjay
” javur (B) Mysore (€} Kanchipuram (D) Madura
- Foea e (psm) a0 o

(A) aﬂﬁmﬂa%ﬂﬁaﬁﬁmmmw

(B) =g Mﬁﬂmhﬁ%ﬁﬁﬁgﬂﬁmwﬁmt‘%% |

(C) wgﬁwm%%ﬁ%h%ﬁﬁﬁ{%
(D) o forete frerven wfifirs e 2 =

What does the Finaneial Stability Board (FSB) do
(AY It provides financial

AR

wy ha

rE':

support to developin i

2 | 2 cduntries.

(B) It manages the foreign exchange reseryes of #member countries

() Itregulates interest rates for central banks 1mfﬁ11wi:! "
(D) It ensures financial stability, )

______
-------------

-
-
-
_
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117.

118,

119,

120,

121.

122,

113,

mmm@w#"ﬂmﬁ“““‘? (D) HAfHaTT Zwe

(A A aEmm  (B) FEw (C) EEE T
Who was chosen as the brand ambassador of GST 7 _
(A) Deepika Padukone (B) Shilpa Shetty (C) Shah Rukh Khan (D) Amitabh Bachchay

Freaferfiam & w 1= v e T F o e 20
(A) H-Eee T (B) 494t Freer amee () fmfisa (D) A

Which among the following lines is a boundary between France and Germany ?

(A) K-W Line (B) 49" Parallel Line (C) Siegfried Line (D) Senger Line
e =T WETHE T (DGFT) 38 vamere & sty aqr 2 0

(A) T, T S A Fa g []

(B) faEm daem <]

(C) fora e ]

(D) =for o FEi deer o

The Directorate General of Foreign Trade {DGF‘Hﬂiumﬁ under which Ministry 7
(A) Ministry of Mirco, Small & Medium Entergrijes

(B) Ministry of External Affairs o

() Ministry of Finance i)

(I} Mimistry of Commerce and Industry

T S ¥ S ¥ o A e et

(A) fefem (B) ¥EEeR () wEA (D) ifrm
Which element is essential for the production of Elclnar energy 7

(A) Silicon (B) Hydrogen (C) Carbon (D) Uranium
=T I WA ¥ T et & el st 2 0 <l

(A) T g;] (B)

(C) e ) (D) e g AT

NOIDA comes under which district of Uttar Prade Ijh T

(A) Bulandshahar o} (B) Mathura

(C) Ghaziabad ) (D) Gautam-Buddha Nagar

Taw = femg g T ST B 0

(A) 3 3R (B) 15 ¥ (C) 10 3 (D) 9 37z
When is World Post Day celebrated ?

(A) 3" October (B) 15" October n© 10" October (D) 9" October
TAUTFHEEEAFEFIE I

(A) Tz B) wEmfiEe ] (©) PR (D) st Tme

Who heads the Union Ministry of Home Affairs gsof June 2024 7
(A) MNarendra Modi  (B) Rajnath Singh () (C) Nityanand Rai (D) Amit Shah

. ¥fe v i e et gt oy Ll

The Indian National Congress was founded in wl@ gh year ?
(A) 1905 (B) 1947 (C) 1857 (D) 1885

- N e e e e e S S
e
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125, T =1 T €78 FgEn Fwl o fam an 7 E:}]

(A) WA (H) o) ® e
(C) fee=h _ o (D) FEw (FIETETAT)
Where was India’s first airport located 7 EJ
(A) Madras (Chennai) [[] (B} Bombay (Mumbai)
(C)  Delh a@ﬂ (D) Calcutta (Kolkata)
)
126, A T =yEaTal 3 fom, Famedt &y, GST weliwm & fou deires fafire @fim) Fn d 7
{A) ¥207mE (B) Ts0@E (C) T5@mE (D) ¥ 10 =mE
What is the threshold limit for GST registration for businesses in India, for services ?
(A) T 20 lakhs (B} T 50 lakhs i (C) T5lakhs (D) %10 lakhs
127. ﬁwmmﬁﬁﬁmﬁ,mﬁmmﬁﬁw?ﬁmmﬂaﬁ
Tt T 7 qeg 0 & fo R S R |
(A) S fRfEm (B) FefwiE 3“? (C} VPN (D) ferfam
uses images with malicious files in thﬂr;l, meant to help a hacker steal your account information
or infect your computer. o
(A) Image phishing (B} Catfishing E (C) VPN (D) Smishing
128, FmfgmE e T R
() BfE S (B) ZFEM® (C) =it (D) T
What is the capital of Republic of Croatia 7
(A) Mexico City (B) Dubrowvnik [[] {C) Zagreb (D) Amsterdam

129, HTATETE & T0g 3 G W T [ A L G
(A) T ST TS F1 oA i S e 1 axfireR Tt S & wRi A T |
(B) o= i FE H A gam a2 )
(C) e SR 1 Tt e 1 s defLE vee  wer
(D) e &1 it LTl 1 oA g
In what ways does information sharing become important in fighting terrorism ?
(A} It allows terrorist erganizations to coordinate attacks more effectively through security agencies,
(B} It improves relations with other countries.
(Cy It allows authorities o identify potential threats more quickly.
(D} It strengthens the military 's capabilities.

130, T o e ST A e v o yffir 5 AT H S i 8 ?

(A) TR (B) EW (C) Fre (D) i
Which of India’s neighbouring country is known as the “Land of Thunder Dragon™ 7
(A} Myanmar (B) Bhutan (C) MNepal (D) Bangladesh

——
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131, Frepfefia i & e d i i

(A) FHETH

(B) T (©) g (D) SHgF

Which of the following is mof a Social Medial Platform »

(A) Instagram

(B) Google <| (C) Twitter (D} Facebook

. L]
132. it & 3 fm warre o ST S (e e 2

(A) a7 W

(A) Ietagea (B) wrfersia amg
(C) ﬁrﬁmﬂiwﬁ?ﬁ@

Who was the Governor of RBI during the demoneti

(A} Uit Patel

(C)  Chintaman Dwarakanath Deshmukh

(B) WEIWgmw
Which of the following types of pollution is

(A)  Soil pollution (B) Water polluticgg

@
133, 1946 % fandia & & RBI & madu 37 4 9

(C) mﬁn@w (D) FeHra wEmm
Gultura) (acecelerated) eutrophication ?

(C) Naoise pollution (D} Thermal pollution

(D) 2. gormE
zation in 1946 ?

(B) Shaktikanta Das
(D) D. Subbarao

134, mﬁmﬁﬁwmaﬁwamm%ﬁﬁﬁﬁ%ﬂm%?

(A) WTTIV (B) wmy E (o) wmn (D) W 11
Which part of the Indian Constitution deals witli the Directive Principles of State Policy 7
(A) Part1v (B) PartV (C) Partll (D) Part 11|
o
135. T e Frwetie s o foredt md oy 0 @)
(A) TETETE EE (B) = e R
(C) wewadt ami (D) Aferefraroor g

The book ‘A Life Misspent” was written by whom ?

(A) Jawaharlal Nehry
(C) Mahadevi Verma

136, TR F e =

(B) Suryakant Tripathi “Nirala®

L] (D) Maithitishgran Gupt

T |

(A) 1% % 3107 2 9 3 vy a1 et

(B) ﬁamamﬂqfﬁm

(C) =& 3wy i aufimfy (]
(D) 31 % o fiet werrer =01 aqgien o

The main reason for the blueness of the sky is&)

(A)  the seattering of sunlight by air molecules
(B)  the scattering of white light

the presence of water vapour

(<)

O

(D) the absorption of blye light due to the air

137. T e 1, e
(A) firde

Raman Subba Row, whe
(A) Cricket

S o

e

TS 3 v v, P e @3 21

(B) F=er 2w (C) Feafie (D) &

passed away recently, was associnted with which sport 7

(B) Table Tennis {C) Football (D) Hockey

_________________
---------------------------
_______________________



138,

139,

140,

141.

142,

143.

mmﬁmﬁiﬂmﬂﬂm 7
(A) Tt bt

(B) Fmm (C) WETEl (D) T

What is the name of the longest river in Peninsular India 7

(A) Godavari (B) Krishna {C) Mahanadi (D) Narmada
NHRC &1 9vf %9 sy & 9

(A) 971 TR e e, s [
(B) et 7 Wefers o, e ]
(C) et 71 Tz oy, s .
(D) ﬁ%ﬂﬂﬂ TEZH Fafta, e n
What is the full form of NHRC 2 : )
(A} National Humanity Rights Commission, 1 { J
(B) National Human Righteous Commission, Ingj
(€} National Human Rights Commission, India (3
(D) Matural Human Rights Commission, India

o 1985 1 FH-TT Sicfa = aifi Sy e o

(A) o= (B) it (C) Fwdm (D) T

The year 1985 was declared as the Intemational Year of

(A} Children (B) Women (C)} Blind (D} Youth
Mﬁﬁuﬂﬁwmﬁuﬁrﬁaﬂrgﬁ ST T 37 e S A o il i qmams s &

BETHET Al 8 | :

(A) fufim Eggm TOITEH,

(C) TEm

ELS{D] ST

research methods allow for in-depth sﬁj further probing and questioning of respondents based
on their responses.

e
(A) Mixed (F(B) Qualitative
(C) Action (D) Quantitative
BRIFI (i =9 2 7

(A) =2 vz g shifinfia
(C) e bz i shifimfie
What is the full form of BRI 7

{A) Beltand Road Initiative ‘-/!{E} Basic and Road Initiative

[--l[D‘] Belt and Republic Industry

Tafime =ufet 1 3w e it e 6 e d St S w3 s A Em
(A) fim (B) T et ey wmeas =it (D) =it

tries to trick specific indiv'tdun!sli&h:- jeopardizing the sccunty of the orpanization they
work for. i

{A) Spamming

(B) afi vz iz shfinfa
(D) ez uE fufes =6

(C) Beli and Resource Initiative

(B) Spear phishing ﬁﬂl}{ﬂ} Cyberstalking
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(D) Sneaking

-
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D) == 2002

A AT 2004 B} T 2004 (C) gﬁ'{é 2000 (D)

:'k'h n 1.1."55:-1]11: first ever National Agriculture Policy announced 7 (D) March 2002
lmc "n.i'lm*h 2004 (B} January 2004 (C) July 2000

i HHETER
145, =4 5 Sfff AT FEE 3 Y i o e 11 W ST ) H T
it g e e |

The United Nations Commission on Human ;
Council for the enforcement of inlermationg| (it

(A) 2006 (B) 1998

£his was replaced with the United Nations Human Rights
man rights law in the year

[11(©) 2000 (D) 2001
146, m%m-mﬂzﬁwﬁﬁr%%ﬁmﬁnmﬁﬁ
(A) Tivama s (B =afm i

LB(C) 2w frira (D) EFH
Who s the first person to run across Af rica 7

()
(A} Sisay Lemma (B) Kenenisa Bekele iy

Dennis Kimetto (D) Russ Cook

e
147, ST M FTEE o Y e ﬁrﬁaﬁﬁmﬁ%@ﬁ@?ﬁ%mﬁm%ﬂ%ﬁaﬁmﬂ?ﬁfﬁméﬁ
R o
(A) TWE (B) =iy (C) smmfrem (D) TS
The Indian Agricultural Research Institute has demandeq legal action against which country for cultivating
basmati varieties protected in Indig 7 .
(A} Myanmar (B) Bangladesh l ]{E} Afghanistan (D} Pakistan
148, ﬂqmmmmaﬁg‘i AT Ferseren & Rt s s 2 o
v b ..
(A) wWErTR (B) TeTeum '-:;u::. A (D) 3nifgem
Which Indian state i known for jis unigue 'Waﬂit{ intings 7
(A} Maharashira (B) Rajasthan p i:.'[':} Madhya Pradesh (D} Odishg
G4
149, T e s et @ P e o R 3 e v oft
(A) TEs (B) g (C) warmrw (D) Aoy
“Chikankari» i5 4 traditional embroidery style that originated in which city of Uy Pradesh
(A} Lucknow (B) Noida | 1@ Prayagraj (D) Varanasi
150, wemmig AT T e s o [
(A) “ﬂ‘ff-ﬁﬁmmzmmﬁw 0 (B) T 1 e o
(C) mﬁﬁswﬁﬁm L (D) H@-ﬁ%mt‘“'”?ﬁ#
What

is the I?Timar}f Cause of ocean acidification E |

e il anille
(A)  Absorption of CO, by sea-water 1 (B) Ol spills

{
(C) 'D".rerﬁshing

(D) Inerease in seq



